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3% . HORIBA PA—1000

EA: ER26F38248(A)

By Sv/h

o= F1thm (k) 2= (L) FE3H A ()
AlES 5cm 100cm 5cm 100cm 5cm 100cm
BIERFZI 10:11 10:14 9:59 10:02 9:46 9:49
HIE B 0.111 0.097 0.112 0.100 0.113 0.084
AT[E L 0.013 -0.003 0.000 -0.008 0.002 -0.002
o= Fatth s (Rm) FE5ih s (F) FEoth = (FErmD)
AlES 5cm 100cm 5cm 100cm 5cm 100cm
HIE BRI 9:24 9:27 9:13 9:17 9:04 9:07
HIE B 0.117 0.100 0.103 0.093 0.163 0.133
ATEEE 0.004 -0.001 -0.004 0.006 0.009 0.000
o= FE7H R (FERQ) 8= (F (XEM)) Lo (F(EE))
AlES 5cm 100cm 5cm 100cm 5cm 100cm
B EBFZI 8:58 9:01 8:45 8:48 10:26 10:29
HIE B 0.102 0.114 0.122 0.111 0.122 0.096
ATE e -0.025 -0.011 -0.011 -0.011 -0.005 -0.004
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HFE :HORIBA PA—1000

EH:FEH26E3817H(A)

BfI:p Sv/h

o= FE1thsm (k) F2th s (3Rdk) FE 3 m (3R)
AlES 5cm 100cm 5cm 100cm 5cm 100cm
I E BRI 10:22 10:25 10:14 10:17 10:00 10:03
BIEE 0.098 0.100 0.112 0.108 0.111 0.086
AiTE L -0.008 -0.011 0.010 -0.006 0.010 -0.007
o= Fatthm (RmE) FEo5Hh s (F) Foih = (FErmED)
AlES 5cm 100cm 5cm 100cm 5cm 100cm
I E BRI 9:42 9:45 9:32 9:35 9:17 9:20
BIEE 0.113 0.101 0.107 0.087 0.154 0.133
ATEEE 0.018 -0.004 0.003 0.003 -0.005 -0.018
#h & F7H R (FERQ) FE8tth s (T (IEFT)) Fothm (FE(EE))
AlES 5cm 100cm 5cm 100cm 5cm 100cm
B E BRI 9:11 9:14 8:58 9:01 10:37 10:40
HIEE 0.127 0.125 0.133 0.122 0.127 0.100
AIEEE -0.003 -0.003 -0.014 -0.006 0.016 0.000




SISBBERICHE TS ERMSHRERERR

ER:EH26E3811H(N)

#7E . HORIBA PA—1000

By Sv/h

= F1ths (dt) 2t (3Rdk) 3t (3R)
AES 5cm 100cm 5cm 100cm 5cm 100cm
B E B Z 15:17 15:20 15:08 15:11 14:55 14:58
BIEE 0.106 0.111 0.102 0.114 0.101 0.093
ATEEE -0.004 0.007 -0.004 0.003 0.007 0.003
= Fatthm (Rm) S5 (F) Foi S (FEmED)
AES 5cm 100cm 5cm 100cm 5cm 100cm
B E B Z 14:38 14:41 14:28 14:31 14:18 14:21
BIEE 0.095 0.105 0.104 0.084 0.159 0.151
ATE EE -0.006 0.007 0.002 -0.004 0.012 0.017
o= F7H S (FERQ) FE8ith = (F (1EFT)) FoM R (B (EE))
BIES 5cm 100cm 5cm 100cm 5cm 100cm
B E B ZI 14:12 14:15 14:00 14:03 15:30 15:33
BIEE 0.130 0.128 0.147 0.128 0.111 0.100
AIE L -0.009 0.006 0.003 -0.002 0.007 0.007

LS EHIERICE T HERMATRE R ERER

#3E . HORIBA PA—1000

BfI:p Sv/h
R : F26E£3878 (£)

o= F1thm (dt) F2tth s (3Rdk) 3t = (3R)
AlES 5cm 100cm 5cm 100cm 5cm 100cm

B E B Z 14:29 14:32 14:21 14:24 14:06 14:09
BIE B 0.110 0.104 0.106 0.111 0.094 0.090
ATE e 0.006 -0.004 -0.007 -0.003 -0.005 0.002
o= Fath s (Rm) FE5ih & (F) Foth = (FEmD)
AlES 5cm 100cm 5cm 100cm 5cm 100cm

B E B Z 13:50 13:53 13:38 13:41 13:29 13:32
BIE B 0.101 0.098 0.102 0.088 0.147 0.134
ATE e 0.001 -0.001 0.007 0.005 -0.004 -0.001
o= F7H R (FERQ) FE8tthm (T (IEFT)) FoH S (F(BE))
AlES 5cm 100cm 5cm 100cm 5cm 100cm

B EBFZI 13:23 13:26 13:10 13:13 14:43 14:46
BIEE 0.139 0.122 0.144 0.130 0.104 0.093
ATE L 0.003 -0.009 0.004 0.009 0.000 -0.012
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